205 8' EX . A
die 12,4, < /7; 18,2928 30,32, 3536 372 vo yo

#5210 T o ldoot 2

/4" & ﬁ’ar?
@ £6x) = x= 2% Cuphral @
@ @ Y?’-—S’-X, = X;—?.;cz

x(x-2\ = O Ly %22
9 =y 2
x=0, X=2 /Y/I % ¥, T T TR Q'X?:H
2 =
26\ =L\ =0 == Neeo - (x,-0)= (o)
C'z,ah R
NO X Ao ‘ XX!—&[ [ - (Kf( [

X, = 1T X - oR X-1= _Q_/)

X,k OR X s~ X4

i = =X, +2
?()Q = fx( @ _ - ¥ Xip
x'i Y N Twe Values ©
?)a@&nuo\, ‘ / § X 3N£ Sawm~e V’JM
7
x =0 ok K=~ ot 7&.“0-
:fr\‘f‘éf 5"‘-&!6‘1&'
[x (= (x, [

\ . , Z@;
@ [ +CpS X = £lx) em f@,:(] Two f,}j?-b/ﬂ
DoNE Cc,.o‘rgg, OCMWQ‘S.
@ Gnapk A VQV{ -, p(x) - - Cx\—. f_g'm}( ;g‘ .
- docprsas s e == e X = | ,
(o) %\ Cfa) [‘o,w’j = y= O x=T aud
o ‘ \\S{I/- DUl <O e Ca,u\)



209 SI"Z/‘H‘ s>,

@ £CE) » +2,

/3,18 ?-‘Fz8 30, '323'3 36

37, 40, v
fu/j\ﬁ»té OD Q 'nggécvgﬂ ' Lo e qﬂof@
ICKOm- »
/\)&“ I‘?ﬁ f’)el‘r'gg Saeun, mfj‘s{:r
3@»5.3!},

! .
Fous “O ? e, N
£ ’/ /

cnd P s
S= T
F0x) = x4 tog x = {
—_— =} a2 9 oo w"hc>f 7/‘}7_)""3"//\)(W"49115 Wﬁ@c’/[
T =0] Gaer o) =4 )
M=ty |
#_59_(‘____7‘8 g\f‘ N C’QE
@) a0 pet =
o X%+ 3
VE
oy +3
X(2y43) = g -
T
2ry +5x = Yy
7 i
1X7—“(j .
. ? -ﬁ
/A»L-kf)tj;- Lt oy
-3k ___%“:.. Sxt :p\&{ij l
1T T e
-




~O 2 Sy
~ N+l
’2-@,?0(_32_ =7 3
¢ ¢ Q/ig:fl" ‘T’@
- ¥

Lol =~ x>
k)= x-S x
PRz 2

K= 2171_ %j
Q:’(,Q

(2,-8)
")"2;{2_’@%

:2(%2;',, ot

g2 = E(dxy =~
Z RN XS 1n = £70) .
S ‘ _ (x2Y-8
- T-eoe) € Bom £ @ b= 200 gives
/ VS{/MQ&@ <l 1003 Qm .
af - 7“?(31—\

=
@ Cad
xd OV g
C%{ !l"g,e ,‘é A
?”%DQ i%éD-JCB
¢ b
7 =X

on  Seny o
CALe /iy . (2&49}/\— g@ug;}_53

Q.C —&{/—\
%) NK"+21x  x
A >0
j-l—l—-f— |
'ﬁ—:?

(75 =%
[ F
m“(“&ek

fﬂ%ﬁ—o

724_1; = Xz !
Q—%q’ - A
A {
6 1"
//p \ﬁ‘&}

(v+(>l: 7\?_&”‘




SRS 33,5, 37 v g

@ ui';(‘ 7‘.4{31‘ 67(-' I; J-o 7,%3;'\ _p-“l
¢ p

K

, /‘\ﬁ <,

S = 0 5 I-do~1
S 332 ébgitmﬂ B P&Q ‘o ﬁ(@\; 1
6y Fad O7(x) 9 g ts TR
() U () +o gA«ck (b)
e\ Skelel £ F £7 o0 same axes.

4'/’-_‘\\‘
L@ ;"(X\: xg/ 3:8 /l-—#of—/ e
; | |

(&B p’(x):%)(’l > O \# Xf@ C{ @'X"—'-Qf ff;g = ‘Lé;’w‘iafﬁ,‘»:@e

(bY £-C8)= 0, 50 () (e = , o
)

(
= @ — (/_
S \_3_ 6\ |




2072, SJ,I" #S %,3; YO ¥ 2

= (Loe) R=
@ p()(.): —[- %> | a="2 $t -;ﬁ (O,ws
X=t /DT BTS20 G (0,00), R+ (1 00)

(2 X _ _t
(&) T (D) 0y = —ger . .
(x=1)

X'L’i = \Le_ ( QCK\. S?:-T‘?" =
XL:XI/ L I l
X1 = 2 GC\ ’3 (l - ¢
-P(Q"(’w\\
[= LX=-2
A2n-2= | l
ax=73
= =
\/('>J——x SERC
N (j_l -
(-:)(7— X
X&_x: (
ng:‘x-é'i
= &!z‘pog)() g}
2 s (e)
d
(P (e Rz Gl
7 T
X
_ ﬂ-—\/\“&_-_“——-‘ﬂ;:? &7:“—-‘ N
= = T g




202 T #s z9,40,92
453740 Fad 07) ()

@ PiY= 1xP k3% 17 s S
Check; £0x) = x> tlox + 3

G(xP+% )+ F
COx2ex+ (EP) +7 - 6(%)
NACTEA

= Glx+ By + 5 >0 v X 5’9'&12% AL AT
- |-4p-| g ¢ dowaline

Al

U}

EY\= 4 ~—=—> X=0, é’j «:LS/waLf‘a:-. £0 (Of%) F
+ o pa i »C’? £ ‘% SO -C’Q(‘-{\

£r0x)= ;,( PERTEx o+ ) (Ex +—:L'x+%\} e
i .
cle'x) = F (4% a( o +1) (300 f)([‘}—i—)t‘}

LEAT () = 3 CC"" je) |




{ |
~N_\ - ( - _ ‘L___l_:,._..
SO -—<Q’ (7-\) ‘,P'(g\ ("53 z g




